BEHEH

| i d L
-r. '. -.
i W P’ ]
! | !
J ¥ | 3
F —]

T

— 00

— 2 4 O 34 4 KO 75 O B 00
tile it A

G BETEALHEYR

TR X AN IADTONG UNIVERSITY PRESS







(CIP)

/ .
2006. 4

ISBN 7 -5605-2185 -1

r.. ... . ... [ - -
V. 013

CIpP (2006) 035147
25« :710049)

(029)82668357 82667874 ( )
(029)82668315 82669096 )
73
850mm>x1168mm 1/32
3
2006 4 1 2006 4 1
0 001~5 000

ISBN 7 -5605-2185-1/0 « 234
10. 00







2005

12

15



f(x)

J"'fmdt

w =

© o Ul

- 13
- 15
- 18
- 20
- 23
- 26
- 27
- 29
- 32

- 37
- 40

- 42
- 44
- 49



- 53

- 60
- 62

- 66
- 69
- 71
- 74
- 77
- 80
- 82
- 87
- 89



ﬁ "

”

xX y ’D
€D, v
- , Y= () e » “
(Dirichlet)
( 1834
(JIodauesckuit H. 1)
). N
(Euler)
2,2 ,
18 19 s
Pty =at [—asa]

1837



: [—a.a]
Mz—[*a,a],
y=1r
22 —|—y2—a2
20

»

x2—|—y2:a2

vat —zt,
(x) =

_«/az_ng

”»

y=— V&,

M, ﬂMzZQ,Ml U

x € M;;
x e M,.

“



”

”

flx) =1

“ ”»
b

(—OO,+OO>_

£ {coszx+sin21, —oco << ax < 1;
1) =

log,x ,

“ ”»

flo)= /2>

»

I
f(x) = 0,

[

1 <<ax <<+ oo,
(—oo,+oc0),
— oo < x <0
=03

0 << x <4 oo,



......

e (= D)

b

X

Cn+1)

b

, y=sinx,

L2nt1

+"' (—OO,+OO),

—oo < x < 0;

0<<ax<to=



n

”»



§ » p. 135
y=chax, (—ocolag<{+o0);
x=arcchy=log(y+/y"—1), (y=1)"
“arcshy=log(y+ > +1);

arcthy:%log(y+«/y2+l), (Jyl<1);

“

arccthy:%log %, (Jy|>1D”
arcchy, arcshy, y
arcthy,arccthy archy,
arshy,arthy,arcthy . ar
area( ) )
arcsinr, arccosx,
arctgx,arcctgx arc
1 ,sinq+cosla=1, x=
cosas y=slna,a=arcsiny, a
a as sing=

BC  LOA =l.a= ,AC



b

x=cht, y=sht,
ch’t—sh*z =1,

t .
2 OK.,OC CAK
K
2
S
%s: AOBC - ABC

1 x
7 J  ydz
% Vat—1— J Vat —1dx ( 22—y'=1D
% /77 —1 — [ NE —ln(lJr«/T — )}
; In(x+ V2 —1)

%ln(«/szrley) ( 2ty = 1),
S=In(y+/»*+1).

=1



e[ R e*/

2 9

, y=shi= (e')?—2ye'—1=0,

¢ =BEVIYTL_ 4 T o,

)
t=In(y+/y*+1)=arshy, @)
D,® t=s=arshy=In(y++/y*+1). ®
y=sht t F—yr=1 OK,
oC . 2,
y = sht = BC , x = cht = OB ,
she _BC _AD _ o _
E—OB—OA—AD—thL C OA = 1D.
archy, arshy, arthy
Archy, Arshy, Arthy.
y=sht y=ths (—oco,+o0) )
(—OO,+OO) ’ .
y=cht, (1,+o2) Yoo t st (L, =—1)
archy =+ In(y + +/y* — 1), y=1,
archy = In(y + /5" — 1), y=1.
archy . {
» p. 1134¢( ) (Courant) { »

p. 188¢( )



lima(x) =0, alx) x>
.l"’lo
ED)
alx).flx) x>0 ) lim 84 — ,
ey @ (2)
=z, . pla) al(x)
“
¢ P eeees ”» “ =0 ,12—>O
3x—>0°¢ 7, 3x—>0 2X—>0°¢ ETTEER ”
“ ”» “ ”» “ 9 ”» ““ ”»
b b
x, =3ty x5 =1, t ,
t 3t ', =0
2
. .
Xy 52y R Im= =lim=—=0, x, x
—0 X =0 3t
dIl dxv
T =7 =3, 0, =— =2t 0<t<<
1 dZL ’ 2 d[ ’
3 . . . .
> O0<x,=2t<2,=3,2, X
“ ”
b b



10

x>z, Pl alx) ) ,
lim B _ 0,
1>z a(x)

@—0‘<5, |BCo) [ <Zelala) [<<lala) |.
alx)
0<|x—ux, |<0»
|B(x) —0[<[alx)—0],
Bl a(x)

, 2004,
(5):26




......

“ 1
“ 2
“ 3
fo)=1, 0<<a<{l;
g(x)=1, —1<x<0
 f (), g () =0 , f(x)t+glx),
]“(I)g(Jc),ii£2 x=0 , x=0

g(x)

b



12

lim[ f(2) + ()], lim[ /(g ], lim ﬁi;

( x>0  x70).
1ir1;)1|:f(1‘) +g(a)] = f(0) £ g(0),

lim[f(x)g(x)] = f(0)g(0),

f(]) _
»og(x) g(0)
L fote(o, fm;,(x),fgli =0
s 1. 2. 3 s
. s (T. M. ®uxTeHrosnl)
{ ) 67
“ f(x)  glx) s
Xy ’
F) +elo), flog, L&
g(x)
g(xy)#£0) X L7
: Sl £ gl f(orglar L2 g
g(x)
1 2. 3
s s 1. 2
3 “ ”» “ ”’ 1



”

“ 5 u=¢p(x) x>,

limgo(x) =a
y=fw  w=a . v=rTe ],
XX f(a),

lim fTo(2) ] = f(a)”

x>z

“ 6 u=g(x) =21 s o(x) =uo s
y=f(w) U= u, , y=fle(x)]
x=x ”

“ »

y=f(uw)=u" —1, u=gp(x)=sinx, 1‘02%.



14

x> lim sinx=1,
a—>x/2
s f(uw) [1,+0oo] Q) =Vu' —1 u=1
limflg(x) ] = lim +/sinz —1
- wn/2
, , r—*% 71#%, x=
% Vsinz—1 , lim /sinz— 1
a—>x/2

5”

“ 6” y “ 6”

“ 5”‘“ 6’7
s {
) $4 73
y “ 5”“‘ 6’,
) SfQw “ so(a) 9
, x 9 () 7
olx) I Xo ,  f(w) a=¢(x,)
’ f[go(l)] Xo L
Ré A () 7 .
, x % » () = sinx
“ 5” R “ 6” , . “ z

ARZEON i

=3 ,



f/(-To)s ’
“ c c M c
C D, M C N, N
MN. N C
M, MN M
MT, MT M
C M .
T 1
| MN | )
/S NMT LV
(D
’ 578
lim /A NMT=0 . , )
| MN | =0

Ye>0, 36>0, O<|MNI|<§ . | /NMT|<e.

b



16

N /' NMT | MN |
’ €>O ) 8 )
2)
, « ” ANMT
s ( 2. 3 ) s
; flx), ()
y ¥
0 z 0 \z
2 3
s y=f(x) (z0s fCx0))
(1'() 9][(1'())) ’
£y = lim L2 =S
0 o p— .
s y=f(x) (2o f(x6))
(l‘o 9f(Io)) f‘/(l‘o)
y— f(z) = f(x)(x— z0).
f’(l‘) ’ . y—

f(x)



17

’ v
4, MN
() — f(xy)
X Xy ’
hmf(x)*f(xo) ’
>z X~ Xy
0 O
, 4
. (xos f(x6))
f’(I()) . ’

szsiné, x % 0;
|

y =
0, x=0
(0,0) . y(0)=0,
y—0=0x—0), y=0.

b ’



“ g y=x7 (5.11)
(Io vyo)a

3 3
y/ I:IO - ? ﬁ 1':1'0 - ? 1() '

R :% \/IO(X*IO).

(Io 7yo) y—x-* ’

(7 (5,11),

11—y, = % V70 (5— x).

& (D xo=4,y,=8.

3r—y—4=0."

b

D)

(8)

9
D)



19

€D) , 9 : (8)
(€*D)
11_7‘0% - % «/1‘0(5_1‘0)9
3 15 3 3
11 —x¢ :7 1'0_71'(;2-
Xo =1L,

t —15¢t+22 =0,

(t—2)(*4+2t—11) = 0.
L =2, t, =2J3—1, 1, =—2J3—1.
1= /2, =0, s s

y—8=3(x—4)

y— (23 —1) = %(2%—1)&—(2%—1)2],

3x—y—4=0
3(2«/§—1)1'—2y—(2«/§—1)320.
1 y:I% 1
Xy ’ v
t2:72\/§71 . y:x%
2
7 (
; G,1D
x? y=3x—1
) 7 ,
s 0 x



§ ) , , 131

: y=f) a<<x=<b .
cy<d . z=F(y) c<y<<d

z=F(y) = F(f(x2)).

F(fa+h)) —F(f(x))

2= lim
0 h
_ lim(F(f(.T+h)) —F(f(x)) | fla+h) *f(f))
hs0 flx+h) — f(x) h )

y=f(x) yt+k=flx+h), h—0 k=0,
¥ = lim F(y+ k) —F(y) lim flx+h)— f(2)

&0 k h0 h

=F'(f).”
) (), F(y)
. z/:f/(y)f/(x) ’ ’



21

b . b

’

F(fGth)—F(f(x) _F(fatmn)—F(f(x) | flth)—f(2)

h flaxt+h)— f(2) h
faet+h)—f(x)=0 , . h=#~
0  flx+th) —f(x)#0 , )
20
. 20
(G. H. Hardy) { Y({ A Course of Pure
Mathematics)) LY
7 ( 217 ). 1922 H. S.
Carslaw {Bulletin of the American Mathematical Society)
XXIX , .
{ » ({ A Treatise on Advanced Calcu-
lus)) )
. (T. M. Apostol) 4 »
({Calculus)) ) . :
F(z), f(x) , F(f(x)) s y=
S,
F(f(x+h))—F(f(I)):F(y+k)—F(y)’ D
h h
k= f(x+h)— f(x),
g(t)zF(y_‘_Z)tiF(y)—F’(y), t#=0 . ©
F(y) , =0 Lg()—0, g(0)=0,
g(t) =0 .
t#0 @ ls
F(y+t —F(y) =t[g)+ F(y»]. ®

® 170 , ® =



22

t ka
F(y+k) —F(y) =k[gk) +F'(»], @
@ k . @ ©)
F(f(x»HL)])l—F(f(x)) :hg[g(k)+F,(y)],
k . k= f(x+h)— f(x) .

F(ftx+h) —F(f(x)) _
h

f(+h) —
h

SOy + F (). ®

flxt+h)—f(x)=0 0, ® . f(x)
, () . h—>0 k= f(x+h)— f(x)—>0.
®

. F<f<1~+h>}>L — F(f(a)
h—>0

— lim f(IJrh;l

= f’<x>[gqir§/e>+F’<y>] = f(2)[g(0) +F'(y]

— f(x) lim[ g (1) + F'(3)]

= ([0 +F (] = f()F(y),
di[ﬂf(x))]:F’(y)f’(x) ,
X

%[F(f(x))]:F’(f(x) ) £,



y=f(x) , T ., dfo)=f(dx. u
u(x) s, dfGw = (wd(2)dx=
GO du. , u
, dy= f'(wdu ,
y=f(w) yu=ulx) ,

dy = f/(u)du,

'y = d(dy) = d(f G duw).
, X dx, x s
da S = () du=u'(z) dx x ,
fGodu ,
d(f" @ dw = ") (dw)* + (') d(dw)
= () (dw)?’ + fd' () dx)
= () (dw)* + f " () (da)?,



24

dy = () dw? + [ wd (x) (dx)?.

y:f(I)’ X ’
dy = f'(2)dx.
f(x)dx , dx , d(dx)=0,

dy=d(f'()dx) = f(x)dxdx + f(2)d(dx)
= () (dx)? + f/(x) + 0
= /() (dx)?.
-
d'y = & f(x) = f(x)dx)?,
v=f(w ,u=ulx)
dy =dfw = [ (dw? + [ (2)(dx)?,

b

s n=2 n d'y

’ ’ sz(uy'v)

dz = ajdu + aﬁdv,
Jdv

T Ju
Uy ’
d'z(n=2)
s 2=f(x,y) Y
2’z ; 2%z I’z
= 42 : —=(dy)?.
d’z alz(dx) -+ axaydrdy+ay2( v)



25

= f(usv)su=ulx,y),v=uv(x,y) ,

UsT ’

2 2 2
Ee=22w?+2 L5 dudot 22 (do)? + Bdut+ BEdo . @
du u dv du Jdvu

Judv

O © , ,

, , { »
$4 184 ( )

41




, (L' Hospital)
J. (John Bernoulli) , . I
.. 1694 s
{ » ({ Analyse des infiniment pe-
tits)) , 1696 . )
J. . ,
J- b ’

,1979.
R. ,D -
,1987.



y=f(x) , ,
“ f(x) (a,b) y» o (a,b)
. 0 , z,
o S f)<[f(xy) , f(xy) f(x)
5 Xo ’ Xy
o S f()>f(xy) , f(x) f(x)

”»

JI, 0l x<<1;
f(x) =<1, 1< x<<2; 1
13*1, 2 < x < 3.

[0,3] L, (0,3) .
1 )



28

0 [a.b] S
? . 2 , y=f(x) [a.,b]
. f(z) [a.b] ,
flx) (a.b) x, ( )y f(x)
f(x) [a.b]
¥
a=a
[ \o=r@ I
L |
. |
[ |
O @ =z b =z
2
y=/x)
“ o , x,
SO f(xy), S(xy) S ;
X0 R X, flx)=f(xy)
S(xy) A& 7,
( » { »
{ )
@b S (a.b) (G R
(G .
2) f(x) (a,b) s () (a,.b)



f(x)

2
X

£ { I—(z+ 1)

(—1,0
( 1 ).

(1,0 s
y=f(x)
y=f(x),
—2< x <0
x > 0.
1



30

b (O?O)

0,0

(—1,00 O z

, . y=f(x) o (x4
f‘(‘TO)) . . . . . . . . . ’ . . . . . . . . . . . . . . ’
(1‘()’][(1‘0)) o e e y:f(l) o s e ’ o e e

{ D 4 D
R. Ellis  D. Gulick 4 »



31

0,
(

21 ( 2)
4 2
2 2
2
y
y=z?
yil%’ (Oyo)
, 0f (0,0 z
(0,0) = /
3'(0) =40,
3).



y=f(x), f(x) s
. tana= f'(2). M,
’ X ’
M(x,y), M,M Ses
m/l s>0, s
0, s=s(x) «x . y=f(x) (xyy)
K
I lim@ K:@ a=arctanf(z)
a0 AS ’ ds’ o
g |y e _ | da
b limys o K= ima = s )
.| Ba | A
- lim As‘ : K=lim ||
I
—1+V1—2a*, —1<x<<0;
o =4 ‘ *

11—«/1—12, 0l x<<l1.

¢ D 0,0



33

Baj_| _Ba g iy |2e 1
’ As Aa 1 ’ a0 | AS ’
. Aa “ 2 “ ”
ilfé As | (0,0) . 1.
v
) y:f(:() (1‘()9
f(xo)) . ) (0,0) p
r=2x, ' (xo).
x=0 1
——*t . —1<a<0;
f(x) =<0, r=0;
L, 0<axr<l
1 —2*
—x 2 0
) = lim AT
0" x
—t —0
F0) = lim YA
| = lim V4—-—F—F— =1,
‘14»0+ X
y . Aa
s ’ fim | o

, IO, I ,




34

J—A"—l, —l<a<0 ;
Aa As
As As
lAs =1, 0<<x<l1
, —1<x<<0 f'(x)=tana ,  0<<a<<
1 f(x)=tana ) —1<ax<<0 Aa=—As<<
0, 0<x<1 .Aa—As>0. lim 22 :
a0 AS
1:O ) [}
(1) (D K= | %
s
da
’ ’ Kids
1 I P I P,
P,.P, , P,.,P, P .
, ( ),
( ) .
2 y=f(x),

tana= f(x) ,a=arctan f'(x) =arctany’,

_da_ y”df/ v P
K ds 1+y/2 I+y*da (1+y/2)3;2'

3 ,

_ |y//| ’
(1_’_3//2)3/2



M(xo,yo)

(@]
1
y=f(x)
f(x) , (2o fC20))
(xo s f(x0)) y=g(x),
(zo 5 f(x6)) )
f(xe) = g(xy), F(zy) = g'(x0)
| /" (xo) | _ | ¢ (xy) |

(4 7G0T T O+ T
f/(l'o ) :g”(l'o).



36

plx)= f(2)—g(x), g(x), ()
Lo(a) = (Lagrange)
(Taylor)

() =) +E () L (e + €D ()

E§ xy x s go(xo):f(fo)*g(xo):O,go’(fo):O,
90//(1'0)209

"

o(x) = J(Dgﬁ(x*xo)s. @

nw

¢’ (x2) #0, o' (x) x=x0
’ T =Xy
(o= 0820 +8) ¢ (2)
’ gow(S) (xg—0sx0168)
, @®
()= f(x) —g(x) Xo

b

() x
=2 y= f(x)
y=g(x) s x=x 2
y=f(x) y=g(x)
s y=f(x) x=x s x=
To , 2
¢ (x)=0 " () " (2,)<C0, )

”»

y=f(x) *



() I flx) 1

b

Goursat { A Course in Mathematical Analysis)

Every function whose derivative is f(x) is called an indefi-

nite integral of f(x) or a primitive of f(x), and is represented

by the symbol Jf(x)dx. ( : f(x) ,
f(x) , f(x) , Jf(x)dx).
Jf(x)dx (o

, : qu)dx (o
.o ()



38

,Jf(l')dx f (o

s 4 D 4
» 4 »
Jf(;(‘)dx f(x) . Jf(x)dx
jfmdf e :
Jf(.r)dx f(x) s
Je”'sinxdx,
Je"sinxdx =—c"cosx + Je"'cosxdx
=—e'cosx + e'sinx — J.e‘z’sinxdx .
ZJe" sinrdx =— e*cosx + e“sinx + C,.
Je"sinxdx = %ef (— cosax + sinx) + C.
1 @ Jf(x)dx )
) @
2 O C, C,®

J.f(.l‘)dl‘ f () ,



39

Je’sinxdr
@ 2
F(x) f(x)

e’ sinx
G
Jf( x)dx

jf(x)dx = F(x)+C,

JAED)

Jf(x)dx

Cis



4 .
£ /s |7 1w

f2) : diJIf(t)dt:f(I), J‘Tfmdz
o . TJa a

, Jlf(t)dt £l

( ..
) dif’ﬂwdt — ()
XJa
0, — 1< x>0
) = {
1, 0<<x<l1

S [—1,1] ,

o) = J fodt, —1<x<1.
—1

¢ (0) = lim o _

= lim
0 x o x
—im?=%— 0 (1< <0,



f x Lftdt 41

x 0
(0 — lim €D = (O Lfmdl_LOdt

:l.'~>0+ x Jr~>0+ x
0 T
J Odt—I—J de —0 _0
= lim — 0 = lim*— =1
20" x ot X
(0 <<x<< D).
¢ (0) = 0,0 (0) =1l.p(x) x=0 .

[—1.1] .¢' ()= f(o) , [(—1.1] o) e




F(x) f(x)

th(x)d.r = F(b) — F(a).

b b

(Newton-Leibniz) . )
(Barrow) , s
Ellis  Gulick { Vs
Y»({Caloulus—Early transcendentals)),
Vs { Vs
Dy (B. Y. CmuprOB)
{ » ©)

(The fundamental Theorem of Calculus)

[a,b]

§
§

§

(The fundamantal Theorem of Integral Calculus).

difﬂwdt — ) f
XJ a

)



43




“ f(x) [a.b] , [a.b]
&, :

b
J fo)de = f(Ob—a) (a<CEXD.”

b

“ f(x) La.b] ) (a b fx)=>0.
(asb) &, y=f(x) y=
f(&,x=a S, y=f(x) y=
f(&,x=b S, 3
La.b] t,

F()— J’[f(r) —f<x)]dx—3j"[f<x> — () )da

*t b
- [f(z)(z—a) —J f(x)dx}—SU f'u:)dx—f'(z)(b—z)]
F(t) la.b] . f(x)>0, F(x) [a.b]
(avb) Cs

*bh
F(&) :—sj [F() — f() Jda



45

¥
f

[ vy S ——

— 3J”[f<x> —f<a>]df—3j’[f<x> — @) ]da

< 3][]"(1) — fla)]da

=—3[f&) — f@]b—c) <0, <& <b.
F) = [ L) = o Tde+ [ Tr) = £ Jda

>Jr[f<b> — F() Jde

=[f)—f)]c—a) >0, a<<& <c.

, (a,b) & F(&=0, S5 =38S,.
Fio=([t—a)+30b—0]>0, F()
((1,/}) ) (a9/)) 5’ SIZBSZ-”
f(x) [a,b] R (a,b)
g,

b
Jf(z')dx = f&OW—a), a<<&<b.

d[,
ajuf(t)dt :



46

o) = J‘[f(t)dt, ola) = 0. o(z) [a,b]
b ,
J FOdt= (b)) —gla) = ¢ (b —a)

= f(&Ob—a), a<&<h.

’

F() — J [F() — £()]de — 3J"’[f<x> — (0 )da

b
Fla) =— 3J [f(x) — fla)]da
=—3[f&)— fl@]b—a) <0, a < & < b;
b
F) :J LA — f(a)]dx

=[f)— feE)Ib—a) >0, a<& <b.
’ <a5b> Ea F(S) - O, S] - 382.

d

dxjuf (H)dr = f(x)

’

1 f(x) la,b] L f(x) =0 (a,b)
b
7 f(p >0, J f(x)dx > 0.
f(x) [a.b] ,
V4 f(p>0, 50, |x—yl<6<min{n—a,

6777} .



47

. . 1 .
N EOIES SO
— LIPS @ = [P [+ ay—d<a<y+o<b,

LIS D s asg— o<y o<h.

qu)dl—J f(z)dx+J f(x)derJ ere
J J :\?f(rj)derJﬁade

.
— 0+ [" L rpde+0 = a5t =0,
7o 2

2 f).g(@)p() [a.b] ,
F@) < g@) < plx)y a<z<b.
(asb) n Fp<g(P<e(p,
Jif(x)dx < J:g(x)dx < Jigo(f)dx.
g(2) = f(2) o) — g () 1

f(x) [a,b] , f () [asb]
m=f(&),a<6<D M= f(&).,a< <.
M—m=0, f(z) [a.b] , (a,b)
X 59
b
J f(o)dx = (b—a) f(&) (a << &< D).
M—m>0, f(x2) , (a,b)

VM
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b—a

m< (<M (a<a<b).
5 Jm de < be(x)dx - J"de,
b
m(b—a) <Jf(1)dx<M(b—a),

1

b—a, m<b .

be(x)dx — M.

b
Jf(x)dxz)uz, m<p <M,

(51952) (Ez 951) & f(f) = M2

b
ﬁjafmdx — = [,

b
| reode = o—wrre.
a<L§ <ELELD a<l & <E<TE <D

b
, Jf(x)dx=(b—a)f(€), @< &<




b
“ zoy n , (xrsy1)s (g

yz)a""(f,,ayn) ’ Ny s My st sM,. .

” n
E mx; E my;
_ =t M, =
- n
2 m

’ y:M* ” ’
25m

i=1 i=1

M

Yy

M

<
I

7
E

M, = > imax.s M, = D my,.

i=1 i=1

, xoy D, (x,y)
(O(Ivy)y p(lay> D ’

......

M :H‘o(x,y)dm
D
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Hx(o(x,y)da Hyp(z,y)da

— ”

xr =

¥ , §= )
M H‘O(l,y)da ﬂ‘o(lwy)da
D
, { Y ({ Differential
and Integral Calculus)) , ( » )
“ ” “Center of mass” “Centroid” (
) . ,

Carl Jenness Coe { Theoretical Mechanics), p. 82

“If we have such a set of n particles p, . p,,+*, p, with radius
vectors Zl , ;2 TN Z and corresponding masses my s M, 5 0t M,
then we define the centroid of the set to be the particle p, with
radius vector ;o and mass m, where

by = mipy + mapy o mup, _ Em;i),»
0 my, +m, + - +m, Zmi

my = my; +m, + - +m, = Em{.
Consequently we always have
mopo = Zm[)
( : n PisDas s Pus D1
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DPrstsPus My s My 50 s My, ’
Do~ m Do s
; _ mip +myp, + o+ m,p, _ Em,[),
’ my +my 4+ m, >im, ’
m, =m, +my, + - +m, = Zm,,
mypo = Em,-j),-. )
. centroid,
center of gravity( ).
. { Vs
( p. 139)
“ n , My My 5" 51, s
DPispPas s Dus (x1syv1921) s (202022 ) s s (X0 Vs
2,0 P M s
br = mug,
p:pl+p2+...+p” :Mg
Eams D) e
A L Ty £ A px, - oma Fmpa, r Ama,

Pt py e p,

’

2 p,'.T i

£ = i=1

my +my, + - +m,

n
E m,x;
i=1

Db

i=1

Zpiyi
n = i—=1

= . ’
Em,
i=1
n
Zm,y,

i=1

Db

i=1

- n ’
2 m

i=1
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i=1 i=1
b
‘ ’”'
b
Zp;l‘i Zpryf
E="— = ">
213; ZP'
im1

i=1
20 50
s



()

y—fy

fx)

La.b] ¥
f(x)=0, y=f(x)
[a,b]
A. )
La.b] ,
[z,2+dx], [6)
y=f(x)
AA ( D
AA =~ f(x)dx,
f(x)dx A , dA,
dA = f(x)dx.
A S (x)dx )
0
A= de(l')dl'.

’

z xtdx b x

[avb]

: f(x)dx
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AA ., AM=a~dA = f(x)dx,
J"’ flode A :
A(x) y=f(2) . la.a]
( 1, ACa)=0. AA
A(x)
AA = Az +dx) — Al).
1, e€[x xtda],
Alx +dx) —Alx) = f(&dx,
f(x , da—0 -z,
f(& = f(x) +o(l),
o(1) dx—0 ,

f(Odxr =[f(x) +0o(1)]dx = f(x)dxr+o(1)dx.

lim olDdz _ limo(1) = 0,
o dx dr—0
o(1)dx dx y
AA = f(x)dx + o(dx),
AA  f()dx dx .
,  f(dx A(x) s

dA(z) = f(x)dx.
I} A(I) ’
f(l‘)dl“ ,,dA s “ A ”» y y
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Alx) = ff(x>dx+ C.

Ala) =rf(x)dx—|—C=O—|—C=O,

Alx) = fﬂx)dx.
[a,b] y=f(x)
A=A — J"fmdx.

b b




b

“ () [a,+ o] , b>a.

hmj f(x)dx
. £ [as 4 oo]
foo
s J f(x)dx,

oo b
J f(x)dx = lime(x)dx

pary )
oo
j f(x)dx ; ,
oo
f(x) La, + o] J f(x)da
foo
, J Flode e ”
b
s limJ f(x)dx
bmton) a .

beo .
J f(o)dx, J f(x)dax

, llmJ f(x)dx s

b0,



J f(x)dx

’

oo
J sinxdx s
0

f(x) la,b]

n

hm f(s,')A-Tiv
A0 5

a=x, <x) <Xy ' <la <x <> <xo <x,=0b,

[a,b] n—1 AT, = T — X1 6&

Xy s Tg 9t 9 Xy
JA = max{ Az, sAxs s s AT, }

Lo 2]
@ & ; A0 D) f(E)Ax,
i=1
& ; lim >3 f(§)Ax,
A0 5=
b b
Jf(f)dx (Riemann) Jf(]‘)dl‘
[ La.b]
s A11’A~T29'"9AI,,
, oo , f(x)  la.b] s
& f& s
! b
. LimD>] e A ; Jf(x)dx
A0 5 a

be(x)dx
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J.h f(odx ,

b
b —>—4 oo jf(x)d.r s

J.A‘\’ f(x)dx.

improper integral of the first kind,

improper “ 7K 7

improper integral

b
b>=a, Jf(x)dx ,

b
I :Jf(.r)d.r ( b=a,

oo
J Flrde = lim I(h) = (£ eo),
a prtoo

lim 1(5) , jw’fmdx
bh—>+-co a
lim 1(b) : Jf flode s
i a
oo
lim I1(b) , J f(x)dx
I}~>+~xz a
b +oo
J f(oda . J f(oda
c b
limJ F(ode + lir‘an(.r)df.
a—>—o q b—>+too) ¢
, Cf()
(d’b] ) a < X < b X o

be(l‘)dx
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b
I(x) :J f(o)dx (a<<x<b),

b
Jf(x)d.r = limI(zx) = I(a+0),

ot
b
limI(x) , J f(x)dx
] a
b
lim I(x) , J f(x)dx ;
4>a+ a
limI(x) ,
lim I(b)  limI(x) ,
brtoo oat
,  limI(b) = oo, lim I(b)
brtco brtoo
b 1
(D o dim | Ldestim| Las
P wotda T
. ji idx,J dx
X 0 x
(2) ’ f(ff) (aab]a [Cleb)q (aab)
b
, Jf(x)dx ,
(3
J+ dx «
1 ox ’
improper integral, uneigentliches Integral,
HECObCTBEHHBIH HHTErpaJls “ 7 )

“ ”»
s



S )#0, Az—>0 df ()= f(a)dx
Ay= flx+Ax)— f(x) . flx) =0,
AI)if(xo) . f./(xo) ’
f(x)dx Ay= f(x,tax)— f(x,) Ax
f/(x()9y())Ax+f;r(x()’y())Ay f(I()+AI’y0+
Ay) _f(l‘() 93/()) < A1—>O,Ay—’0 ) ’
f(lvy) po(l'o 9")/()) ’

flx,y) Po(xos30)
df(I() 7y()) - fi»(x() ’y())d1+ f;(IO ’y())dy’

f:(xo,yo):O,f/y(Io,yo):() ’ df(foayo):
O’ . fi(Iovyo)vf;(.ro’yo)
’ (Io 9yo) ’ (‘T’y)

fi(io 73/0)(1*1‘0)—’_](;(1”0 Qyo)(yiyo) - 09
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(xq s Yo )

(1’,y) ’

f/z(-To 9yo)Al‘+f:(Io ,yo)Ay = 0.
’ (onyo) fi(l’o’yo)(xifo)+f?y(xo’

yo)(y*yo):O

df(fo yyo):fﬁ (IQ ’yo)AT“Ff/\(To ,yo)Ay:O.

’ AI%O,AyAO

p=+ (Ax)*+(Ay)?

19
(Goursat) {

(x)#0
) (x0s30)
+ £ (2o sy Ay=0,
{
1947 )

b

.17
19 s
f(x)
AJ‘ 1)
20
»
(E. R. Hedrick)
fa)=0
dy=f"(x) Ax ,
, f’
s, f/l(l'o 9yo)A.T
»1951 (

“ ? fi(Io;:)/o)AI‘Ffi,(Iov:)/o)AQ/



P

z=f(x.y) Plx.y) U(P) ,
L, P(x+Ax,y+Ay) [ s o=

VA T+ Ay, P’ l P,

f(x.y)

af
da

x

0.,0)

lim flx+Ax.y+Ay) — f(x,y)

o0 0
f(x.y) P [ .
If _ lim f(x+ Ax,y+ Ay) *f(x,y)_ D
dl o0 0
P(x,y) x %( @
J— /2 2 af
fla, )=ty oz 0.0

’

(A)*+0— /040

= lim = lim

| Ax|—0 /(Ax)E + 0 lacl—0 | Az |
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2 _ -
W) +0=+v0+0 _ . |Ax]

£1€(0,0) = lim

Ar—0 Ax a0 A
’ 37][ f(.T,y) (O’O) X
X | 0.0
%f £2€0,0) .
dx | (0,0)
S(xsy) Plx,y) =«
f(x.y) P(x,y) =« )
f(x,y) Plx,y) vy f(x,
) Plx,y) vy ,
Z:f(kTay) . Po (1‘0 ayo)7
P, I( ), [ u = cos(
i+sindj , [ P(x.y)( D,
PP = tu = t(cosfi + sinfj) (¢ ).
¥
PO(Io,yo)
O x
1
P l P, s
lim f(xy 4 tcosh, v, thlsm@) — f(xos30)

, flx.y) P, u=cosfi + sindj
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’ Duf <1’() s Vo ) ’

D.f(xy,y,) = lim

f‘(Io + fCOSgay() + lSil’lg) - f‘(l’() vy())

t—>0 t

. u=i=1litoj

Dif(Io 7}’0) = f;(Ioayo) = aif

dx | g ’
u=j=0i+1j ,
. ’ adf
Dyf Covoy) = filanoy) = 20|
IV | (xgay)
s flxsy) x f(x,y) x
. flxay) y
Jdf a
f(x,y) vy . é,ﬁ[
If
’ ’ a[ b
f(xsy,2) ;
Po(l’()vy()yzo)e P() [ u=cos(1,1')i+
cos(l,y)j+tcos(l,2)k (Lyx) s (Lyy) s (Ly2)
x Ny 4 ) f(xay,z) Po(l'ovyoazo)

u
Duf(l"o s Vo 920)

— lim f(xo +tcos(Lyx) s yo +tcos(lyy) sz +2cos(l,2)) — f(xo 0 +20)

>0 t

D.f(x,) = lim

0 L
X {10 2T2,0 5% s Tuo ) oL

X0 [

f(x, +tu) — F(x,)



f(x,y) M, (z, vyo)
’ f(l‘,y) (-Tosyo)
s . (Peano)
2= (y—2)(y—22%). )
y=bx/a . xr=at,

y=bt, ) y=bx/a
2(x,y) = z(at,bt) = ¢(t) = (bt —a*t*) (bt — 24°t%)
= 0" — 3a’bt’ + 2a't".
¢ (1) = 20"t —9a*bt” + 8a't’ ,¢ (1) = 20" — 18a’bt + 24a'r”.

¢ (0)=0,¢"(0)=2b">0, o(t) =0 ;
2=(y—a*)(y—22%) (0,0)
c=atey=bt  1=0( (0,0 0.
z=(y—2")(y—22") (0,0) L {(x,
Wly>22") {((x,y) | y<a®) =z=(y—a")(y—2a") ,
{((x,y) |2 <<y<<22"} z2=(y—2*)(y—22")
, =2(0,0)=0, (0,0) z=(y— 2 (y—2a")

, 0 2=(y—a)(y—2a")
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s L f () ( s )
To s o VAED)
, . f(xo) , f(x) f(x)
s f(x) , f(x0) f(x)
L7 , 1965
10 ( )] :
1 flx,y)=z2"—d2* +2xy— ", D={(x,y) |
—le<d, —lsy<cl).
f(x,y) D s

filxsy) = 32> —8x+ 2y,
filx,y) =22 —2y.
filxay) =0, f (xsy)=0, (0,0),(2,2). (2,2)
, D (0,0). :
SwCrsy) =62 —8, [l (x.y) =2, [, (x,y) =—2.
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A= f1,00,00=—8,B=f1,(0,0)=2,C= f,(0,0) =
—2, B*—AC=2"—(—8)X(—2)=—14<0, (0,0)

. A=—8<0, flx.y) (0,0)
, f(0,0)=0.
f(x,y) D
D f, =7,
D (0,0), )
f(x,y) D

2 f(x,y)=8arctan’x—8arctan’x+

1
arctanxarctany — —arctan’ Vs

8
—ocog<+oo, —ocoy<+oo,

f'(z,y) = [24arctan’x — 16arctanx -+ arctany] 1 —
1+ x°
filx,y) = [arctanx*iarctany] 1 .
N 4 1+y2
arctan.r:%,arctanyZZ s ). ,
y 1
[ (x,y) = (48arctanx — 16) ar7
~+ (24arctan’x — 16arctanx + arctany) ﬁzj)l ,
, . 1 1
fzy(f’y) 1+ 1+y2’
7 1 1 1 —2
fy‘y(l',y) —_ Z m + [arctanx— IarCtany]ﬁ:;i)z‘
(0,00

A= f1.(0,00 =—16, B= f.,(0,00 =1,
1

(/ - fl\,y(ovo) :_Z’
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B —AC=1'—(—16) X (=)= —=3<0.  f(zx:3) (0,0
’ A<Oa f(fl”vy) (090) ’
£(0,0)=0. ,f(lanl,tanl):8*8+1*%
7
g flx,y) (0,0)
2 H b
s flx,y)
¢ , flx.y) ( )
D L] D b
f(x.y) D ( ).”
’ f(Tay) ’ (
) ( )
) )
f(xey) . D ) )
fleoy) ( )., f(x.y) D
L0 f(I,y) ( ) f(ls
v D ( ).
1, 2 s 1
D , 2
, 1 2
D , D ) D



FChoR) . h—>0,k—0 F(hk)—0,

FChok) o= FE >0

hsk C, p:ms

f(i;k>ﬁé(b

f(hvk) ‘O*)O L. 1Y L.

PAULI R

o~
Fb o . U =0,
s wCh, k)
0 , C
‘% <C.

fChak)
lim )

0,

h* +k*
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hk

f(/’lvk) a)(hvk> .
| ah® + 2bhk +ch* | < (L a |41 b [+] ¢ Dh* + k%),
ah® 4 2bhk—-ck? pz

(Maclaurin) s

b

fCh,k) = hk — (B* 4 k%)%,
: . o= VETE—0

, hk o0 ,  (hW*+h*)?

, SChy k)

’ k:h,H .
fChk)= f(h,h*) = h « i — (B* + h%)*
=hrl1—QQ+hr)"],
o= VI FE >0 k=h :
p—>0 ’ a)(hvk)

f(h’k)a w(h,k)



(D ,  moment

of inertia, “ ?

MOMEHT HHEPILUH »

Triagheitsmoment, ,
(2) ( )
( ) )
( s ) 0 m;
Z mo? s
=1
( s )
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3

4

1 2 2
?(my“) Cw

“ ”
“
b
b ’
b
b
b
m
m (ya)?
- Cyw)”
2
my*

”»



73

(

)



(Green)
. _[[(2Q_2JP
3@(%+Qdy_ﬂ(ax ) do @
( C D )
C
D C
(x ) (y )
« L
y ,
1 ,
C 1
C ,
2 M/;P v =y (x),a<<lx<b;

MNP vy =y (x),alx<bh. P(‘T’y)’T
ay
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b (‘ D b

HJP éP(.r,y)dx
dy c
[ (1" 20

dy o= [ ¥ (© ay :| *

[P(x,y,(2)) — P(x,y, (2)) ]dx

P( 7y)d1*\[,.\P(I,y)dI

3

INP

P(x,y)dx—i-J P(x,y)dx

\P

J
J
J
|
@
-9

P(x,y)dx —ﬂg P(x,y)dx,

MNPLM

ﬂ apda :ﬂg P(x,y)dx.
5 9V ¢

2, L/I\ZN x=x(y)c<
ITPT\[ I:‘Tz(y)q (<y<d Q(19y)a%
: [ 2945 b Qwdy
o C

dx
D

P(r,w(r))dr—J'Pu,yl(f))dx

y<d.

@



76

[500=[[J70 550 Jos

d
Q xy (y) s y)dy — J»Q(Il(y) »y)dy

k—w

J Q(a‘,y)dy*J,\Q(.r,y)dy
LPN LMN

NPL LMN

C

NPLMN

ﬂ@da :*3€ Q(x,y)dy.
) Jdx c

Q—0®
SEP(T’y)dvT*Q(r’y)dy— ﬂ(aQ ‘;ypma
O @, )
D C
. D
. D
(n,1) ( ) (Iay) ( )
’ n s T

(Stokts)



1, s
f(x) x f(x)

1

______—;‘
/
s O




78

@9) )
f(x) x=ux ,
(o= R,2y+R) s (x99 T R)
x=0 e’
’ X = Ty
2) ,y=¢e' x=0
D 1>O ) I<O
1‘*0 1)
x=0 y=e",
o _ a2t
y=e y—1+x+2 +3
x=0 y=e', x=0
y—e‘l’ ’ .
(3 s
2 3 2
y=l+a+i-+5 y=l+ta+i- 2=0
2 3 2
2 3
y=e x=0 y=1+x+£+£
2 3
y:1+x+;; y=¢' ,
2 .3
) <0 y:1—|—1‘+%+%
2 3
y:1+x+‘ZL %, <0
2
: y=ltaty
(5) y=e¢e' ’
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)

x<0

I y=1+x N y=1+a+



§ a,,x”
n=0

| 2 | <R , Za,,x” , | x | >R
n=0
’ ’ R .
X :iR <_R9R)9[_R9
R)a(_RﬁR] [_RvR] ] Zanx”
n=0

(3) » 2 Ea,,z”
n=>0



81

|z |=R [z |<R. Daa’ Dlaz"
n=0

n=0
s Za”z“ y =20 Za”f”. ,
n=0 n=0
|2|<<R y=0 (—R.R).
W T Za,,x”
n=0
(*R9R) v
2 a,x" 2 a,x" ,
n=0 n=0
(7R7R)9 (7R7R]7 [7R9R>7
[—R.R]. ( ) (
) ’ ’

s Ea,,x” (—R,

n=0

R,

{ » 4 » 2 a,x"

n=0

(—R,R).



(Fourier) .
“ 27 [—n.n] [0,27n]
_ 1
a,= *J f(x)cosnxdx
K e
:ijnﬂf(:c)cosmcdx (n=0,1,2,),
TJO
b, = iJT f(x)sinnxdx
TJ =
2n
= LJ S (x)sinnxdx (n=1,2,),
wJo
f(l') ’ f(l)
a, - ‘ L
) + ; (a,cosnx + b, sinnx)
f(x) e »
“ f(.l) 9

’ f(.T) s
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(L [ , f(x);
2 x f(x) . (fla—0)+ flx+
0)/2.”
, (o) )
. f(x)
(—m,n]C 0,2x], [a.bD]) (
) f(x)
b ( )’
(—OO,+C>O) ’ ’
f(x)
’ ’ ]((1)
f(x) [—m.x] ,
%Jr ”Z:; (a,cosnx + b, sinnx ) @D
a, b,
a, = ir f(x)cosnxdx (n=0,1,2,+),
TJ—=
b, = ijn f(x)sinnxrdx (n=1,2,),
T n
a, b, f(x) , @) ()

b

f(x) ~ %) + 2 (a,cosnx + b,sinnx ).
n=1
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la,b] , b—a=2L,f(x)

La,b] .
a"+2<a cos "+ b, sin "7 ®
a, b,
a = H Sreos ™ dr (1= 0,1,2,0),
by = %Jf(r)sm—dx (= 1.2.),
©) La,b] [ .

fla) ~ 7+ Z(a cos T +b,sin T, o € Lasb]l.

f) [—m,n] ,
’ f(f) ’

. .
?O + Z (a,cosnx + b,sinnz)
n=1

f(x), e (—m,m0 f(x) ;
_ f<I_O)J2rf(I+O), € (—n.m f()
Iﬂ_KJFO)ZJrf(ﬁ_O)’ =+
f(x) [a.b]
f(x) [a.b] ,

. [ ,

%OJr ; (a,cos %ernsin %)
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H

f(x), x € (a,b) f(x)
Jf(x — 0O+ fa+0)
2 b

x € (a,b) f(x

lf‘(a—l—O)—O—f(bO)
2 b

x=a x =20
f(x) ,
“ f)=10—x (5<x<15) .
z=x—10, 5<ax<15 —5<C
<5, [flo)=f(z+10)=—=2=F(2). F(z)=—x=
(—5<=<5) , F(—5)=5, F(2) (
10), b
(—5,5) F(2).

a, =0 (n=20,1,2,++),

b, = éj‘)(* Dsin T2y = (— 1)” 10 (n=1,2,3,+).
5Jo 5 nw

F(z) = 10 ﬂsin s

— (=5 << z<<H).
n = 5
10 —x= 10 (71)Hsinnj(x*10)
T = )
:L:; (_nlysin%x (5 < x<15).”
b i@, b ’ ’

b

’ ’ (5915) f(l')
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2l=15—5=10, [=5.

15
a,TZ%J_ (IO—x)cos%deO (n=20,1,2,+),
15
b, — lj (10— osin P0de = (— D L0 (i = 1.2,
5Js 5 nmw
f(x)=10—x [5,15] (5,15
f(l') ’

n

%Z{ = D"sin% —10—2 (5<x<15).

b b

(Fort) 4 »({Infinite Series)).




“ ”»
b b

ANy, +ANy, —Ay, —y, =0

Ay, = Yor1 = Yas
Ay, = Yoo = 2¥ + yes
Ay, = Yoz — 3ye2 T3y — yos
@®
Vets T 3ar2 T3¥ei1 = ¥ T (Yot = 2y041 T y.) —
(Ver1—y.)—y.,=0,
Yotz — 2.4 =0,
@) xt+2=1¢,

Yer _2% =0,

Vet =Y — Y = Ay, —y, = 0,
“ ”7@
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. xt+1l,2+2,,x+n
F(l"yf’y.zdrl s Vat2 7”"y~z+n) = O’
( )
. @

t+1—t=1
1, D0, 2,0,® ,

C. H. Richardson. An Introduction to The Calculus of Fi-
nite Differences. New York: D. Van Nostrand Company, Inc.
1954,
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R
27y = (z+O°.

y(1—1Iny)y"+ 1 +1ny)y? =0,
Ci G

x+cl

I+C2

Iny =

=20, y=1y,(F0,7%e), y, =0

:1+C1
I_'_Cz

< Vy:C 1) ll’ly
P

y=C(#0,7#e)

y#0,yFe
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(Cauchy)
) v =f(x,y)
o) v =rz.y
, C . o(x,0)
, Ylema, =0
=gz, Cy) Ve, = v s
V=S
' =f(x.y)

(

) (

B.B

(x09

y=flx.y

C Co Y
y=elx,0)
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